
50 1 850 500,-
50 2 1124,-
50 3 117 190,-
50 4 244 600,-
50 1 213 414,-
51 5 118 096,-
51 6 769 660,-
51 7 90 600,-
51 8 50 650,-
51 9 70 000,-
51 1 099 006,-
52 10 949 300,-
52 11 360 734,-
52 1 310 034,-
54 12 122 826,-

13 47 720,-
3 793 000,-

40 Sk / t

ZISK: 2070,-   t

40 000,-        Výnosy
37 930,-      Náklady

odbytová réžia 347 500,-

ostatné priame N 91 724,-
výrobná réžia 896 200,-

priamy  materiál 850 500,-
priame mzdy 648 876,-

N celkom 3 793 000,-

správna réžia 537 400,-
zásobovacia réžia 420 800,-

0,-

1 591100,-Prvotné náklady

80 250,-
9 460,-

537 400,-

0,-
17 560,-
896 200,- 347 500,-

33 928,-
8 320,-

420 800,-

174 570,-269 514,-
8 648,-

12 390,-

122 682,-94 392,-

68 400,-
25 992,-

141 790,-
88 900,-
33 782,-

249 970,-

24 800,-

648 876,-

470 200,-
178 676,-

195 300,-
74 214,-

126 500,-
48 070,-

70 000,-
25 850,-

26 330,-
90 660,-

236 200,-

90 600,- 372 926,- 243 720,-

62 000,-

90 600,-

4 226,-
368 700,-

851 624,- 29 400,- 34 190,-

8 390,-
25 800,-

189 400,-
52 820,-
120 900,-

34 720,-

42 600,-
19 400,-

51 900,-
184 300,-

14 300,-
15 100,-

SPOLU

850 500,-
1 124,-

stredisko
Správne

stredisko
Výrobné

Výrobok  E
stredisko

Zásobovacie
stredisko

Odbytové

            Príklad 3.       Triedenie  nákladov  a  kalkulácia  jednoduchým  delením  -  riešenie

druh P. č


